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Summary 

The governance of government and private institutions is 
based on some value and ethical principles to curb corruption and 
achieve an acceptable degree of integrity and transparency. 

We need reform of government institutions and the business 
community to protect the national economy and achieve a measure of 
justice and equality. It is not expected that this will be achieved 
without the transformation of codes of values and ethics from written 
and declared slogans to practices of action on the ground. The 
Transparency and Integrity Institution should enjoy some kind of 
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independence, and one of the efforts required of the state is to 
improve the governing legislation, and for both the House of 
Representatives and the Senate to enact legislation, create oversight 
mechanisms, and increase punitive, judicial and security measures. 

It is difficult to restrict corruption completely, but upgrading 
and government applications may reduce its impact and curb the 
phenomenon of bribery and profiteering by exploiting the position or 
hiding behind immunity and for everyone to be held accountable, 
regardless of their job or institutional position, while giving the 
media a greater opportunity to hold the government accountable.        

 Keywords: governance, corruption, performance indicators. 
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



 

  

     
 



 

 



 

 
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

 

 

 

 

 

  
 



 

  

  

 

 
 

 
 

 






 
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٦











 

 

  
 



 

 







 

 

 

   

   
   
   




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

 



 

  

   

 
 

   

 
 

  

 


–

 

 







 
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